Chapter Four : Molecules

Question 1

1. Use Physics for You to fill in the missing words:


a) The three states of matter are . . . . . . . . . . . . . . . . . . ,     . . . . . . . . . . . . . . . . . . and . . . . . . . . . . . . . . . . . . . 
All matter consists of tiny  . . . . . . . . . . . . . . . . . . travelling at . . . . . . . . . . . . . speed.

b) A solid has a definite size and a definite . . . . . . . . . . . . . . . . . . because the forces between its . . . . . . . . . . . . . . . . . . are very . . . . . . . . . . . . . . . . . . . 
A liquid has weaker forces between its . . . . . . . . . . . . . . . . . . and so does not have a definite . . . . . . . . . . . . . . . . . . .

c) If a substance is cooled down, its molecules move at a . . . . . . . . . . . . . . . . . . speed. 
When some molecules pass through some other molecules, we call it 
. . . . . . . . . . . . .    The twisting and jerking of smoke particles when they are hit by air . . . . . . . . . . . . . . . . . . is called . . . . . . . . . . . . . . . . . . .

Chapter Five : Expansion

Question 1

1. Use Physics for You  to fill in the missing words:

a) When an object is heated it . . . . . . . . . . . . . . . . . . and when it cools it 
. . . . . . . . . . . . . . . . . . .
If we try to prevent it from contracting it exerts a very large . . . . . . . . . . . . . . . .
If a bi-metallic strip made of brass and iron is heated, it . . . . . . . . . . . . . . . . . . because . . . . . . . . . . . . . . . . . . expands more than . . . . . . . . . . . . . . . . . . and the . . . . . . . . . . . . . . . . . . goes on the outside of the bend.

b) Liquids expand more than . . . . . . . . . . . . . . . . . . but less than . . . . . . . . . . . . . . 

c) When things are heated, they get bigger because the . . . . . . . . . . . . . . . . . . are moving more.

Chapter Six : Thermometers

Question 1

1. Use Physics for You  to fill in the missing words:

a) Thermometers are used to measure . . . . . . . . . . . . . . . . . . . which depends on how much the . . . . . . . . . . . . . . . . . . . are vibrating. 
Internal energy is the amount of . . . . . . . . . . . . . . . . . . . in an object.

b) The coldest possible temperature is . . . . . . . ºC, called . . . . . . . . . . . . . . . . . . . .

Chapter Seven : The Gas laws

Question 1

1. Use Physics for You  to fill in the missing words:

a) Boyle’s law: 
for a . . . . . . . . . . . . . . mass of gas, at constant . . . . . . . . . . . . . . . . . . . . . , 
. . . . . . . . . . . . . . . . . .   x    . . . . . . . . . . . . . . . . . .   is constant.

Pressure is . . . . . . . . . . . . . . . . . . proportional to . . . . . . . . . . . . . . . . . . .

b) The temperature of absolute zero is . . . . . . . . ºC or . . . . . . . . . . . . . . . kelvin. At this temperature the molecules have their . . . . . . . . . . . . . . . . . . . possible 
. . . . . . . . . . . . . . . . . . 

Chapter Eight : Measuring heat

Question 1

1. Use Physics for You  to fill in the missing words:

a) The unit of energy is the . . . . . . . . . . . .

1 kJ stands for one   . . . . . . . . . . . . . . . . . . . . 

1 MJ stands for one   . . . . . . . . . . . . . . . . . . . . .

b) The specific heat capacity of a substance is the amount of . . . . . . . . . . . . . . . . . needed to raise one . . . . . . . . . . . . . . . . . . of the substance through . . . . .  ºC. 
The unit of specific heat capacity is . . . . . . . . . . . . . . . . . . . . 
The specific heat capacity of water in these units is . . . . . . . . . . . . .

c) The formula for the energy needed to change the temperature of a substance is:

d) Energy lost by . . . . . object    =    energy . . . . . . . . . . . . by . . . . . . . . . . object.

Chapter Nine : Conduction, Convection, Radiation

Question 1

1. Use Physics for You  to fill in the missing words:

a) Thermal energy travels through the bottom of a pan by . . . . . . . . . . . . . . . . . . The energy is passed from one one vibrating atom to the next. 
All metals are good . . . . . . . . . . . . . . . . . . . . . . . . . . . 
Plastics, water and air are poor . . . . . . . . . . . . . . . (good . . . . . . . . . . . . . . . .)

b) . . . . . . . . . . . . . . . . . . . . currents can form when liquids and gases are heated. The cold fluid . . . . . . . . . . . . . . and the hot fluid . . . . . . . . . . . . . . . .

c) Energy can travel through empty space by . . . . . . . . . . . . . . . . . . . rays, which can be . . . . . . . . . . . . . . . . . . . . . . . . . . . .  by mirrors like light rays. 
Dull black surfaces are . . . . . . . . . . . .  radiators and . . . . . . . . . . . . . . . . absorbers. 
Shiny, bright surfaces are . . . . . . . . . . . . . . radiators and . . . . . . . . . . . . absorbers.

d) A vacuum flask uses silvering to cut down heat transfer by . . . . . . . . . . . . . . . . and uses a vacuum to cut down heat transfer by . . . . . . . . . . . . . . . and 
. . . . . . . . . . . . . . . . .

Chapter Ten : Changing state

Question 1

1. Use Physics for You  to fill in the missing words:

a) A solid must be given . . . . . . . . . . . . . . . . . . heat before it can melt into a liquid and a liquid must be given . . . . . . . . . . . . . . . . . . . . . heat before it can boil into a gas.  
The energy is used to overcome the forces between . . . . . . . . . . . . . . . . . . . 
so that they can move more freely.

b) The specific latent heat of fusion of a substance is the amount of . . . . . . . . . .  (measured in . . . . . . . . . . . . . . . . ) needed to melt . . . . kg of a solid into a 
. . . . . . . . . . . . . . . . . . . . without changing the . . . . . . . . . . . . . . . . . . . . . . . . 
Its unit is . . . . . . . . .  / . . . . . . . . . . . . . . . . . .

c) The formula is:

Energy needed 
to change state   =   specific . . . . . . . . . . . . . . . heat     x    . . . . . . . . . . . 

d) Impurities . . . . . . . . . . . . . . . . . . . the melting point of water. 
Increased pressure . . . . . . . . . . . . . . . . . . . .the melting point of water.

e) Impurities . . . . . . . . . . . . . . . . . . . the boiling point of water. 
Increased pressure . . . . . . . . . . . . . . . . . . . . the boiling point of water.

f) Evaporation causes cooling because only the . . . . . . . . . . . . . .  (hotter) molecules escape, leaving the slower ( . . . . . . . . . . . . . . . .) molecules in the liquid.

Chapter Eleven : Pushes and pulls

Question 1

1. Use Physics for You  to fill in the missing words:

a)
When a spring is pulled, the . . . . . . . . . . . . . . . . . . . . . . . . . . .  is proportional to the . . . . . . . . . . . . . . . . . . .     (called . . . . . . . . . . . . . . Law).

b) 
Weight is the force of . . . . . . . . . . . . . . . . . . . . . on an object due to the pull of the . . . . . . . . . . . . . . . . .

c) 
Weights and other forces are measured in . . . . . . . . . . . . . . . . . . . 

d) 
Here on Earth,  the pull of gravity on a mass of 1kg is  . . . . .  newtons.

e) 
Weight is measured by a . . . . . . . . . . . . . . . . . . . balance and . . . . . . . . . . . . . from place to place. 

f) 
Newton’s First Law says:   every mass stays at . . . . . . . . . . . . . . . . . .  or moves at constant . . . . . . . . . . . . . . . . . .   in a . . . . . . . . . . . . . . . . . . line unless a resultant . . . . . . . . . . . . . . . . . . acts on it.

g)
To move in a  . . . . . . . . . . . . . . . . . .  orbit, an object must have a  
 . . . . . . . . . . . . . . . .  force on it.

Chapter Thirteen : Pressure

Question 1

1. Use Physics for You  to fill in the missing words:

a) Pressure =     . . . . . . . . . . . . . . . . . .  

. . . . . . . . . . . . . . . . . .


Its units are . . . . . . . . . . . . . . . . per square . . . . . . . . . . .   (or  . . . . . . . )

b) 
In fluids (liquids and gases), pressure acts in  . . . . . . . . . . . . . .  directions, 
and pressure . . . . . . . . . . . . . . . . . . . as the depth increases.

c) 
In a hydraulic machine, the  . . . . . . . . . . . . . . . .  is the same throughout.
The larger piston exerts the  . . . . . . . . . . . . . . .   force.

e) Air pressure can be measured by a mercury . . . . . . . . . . . . . . . . . . . 
The . . . . . . . . . . . . . . . . height of the mercury is usually about . . . . . . mm.

Chapter Fourteen : More about forces

Question 1

1. Explain the following.

a) Walking on wet ice is difficult.

b) It is difficult to strike a match on a smooth surface.

c) It is more difficult to pull a boat on the beach than in the sea.

d) Wet floors and wet roads are dangerous.

e) Cars are likely to skid on loose gravel.

f) Aborigines light fires by rubbing pieces of wood together.

g) Spaceships get hot when they return to earth.

h) Sliding down a rope can burn you.

i) Speedboats have sharper bows than barges.

j) Racing cyclists wear smooth tight clothes.

Chapter Fifteen : Turning forces

Question 1

1. Use Physics for You  to fill in the missing words:

a) 
The turning effect (or . . . . . . . . . . . . . . . . . ) of a force is equal to the force multiplied by the . . . . . . . . . . . . . . . .  distance from the . . . . . . . . . . . . . . .  
to the . . . . . . . . . . . . . . . . . .  
Its unit is . . . . . . . . . . . . . . . 

b) 
The principle (or law) of moments state that, in . . . . . . . . . . . . . . . . . . ., 
the total . . . . . . . . . . . . . . . . . . .     . . . . . . . . . . . . . . . . . . . .  are equal to 
the total . . . . . . . . . . . . . . . . . . .     . . . . . . . . . . . . . . . . . . . .

c) 
The centre of gravity (centre of . . . . . . . . . . . . . . . . . . ) is the point through which the whole . . . . . . . . . . . . . . . of the object seems to act.

d) 
A stable object should have a . . . . . . . . . . . . . . . centre of . . . . . . . . . . . . . . . 
and a . . . . . . . . . . . . . . . base.

Chapter Sixteen : Work, Energy and Power

Question 1

1. Use Physics for You  to fill in the missing words:

a) The work done (measured in . . . . . . . . . . . . . . . . . . ) is equal to 
the . . . . . . . . . . . . . . . . . . .  ( in newtons) multiplied by 
the . . . . . . . . . . . . . . . . . . . moved (in metres)

b) 1 joule is the work done when a force of one . . . . . . . . . . . . . . . . . . . moves through a distance of one . . . . . . . . . . . . . . . . . .  (in the direction of 
the . . . . . . . . . . . . . . . . . . .)

c) The principle of . . . . . . . . . . . . . . . . . . .  of energy says that energy can be 
. . . . . . . . . . . . . . . . . .  from one form to another, but it cannot be 
. . . . . . . . . . . . . . . . . .  or . . . . . . . . . . . . . . . . . . . .

d) Work done = . . . . . . . . . . . . . . . . . . transferred

e) The nine forms of energy are:

f) Power is the rate of doing . . . . . . . . . . . . . . . . . . 


         Power                =        Work done  (in . . . . . . . . . . . )

( in . . . . . . . )                    . . . . . . . . . . . . . . . . . . (in seconds) 

g) 1 watt is a rate of working of one . . . . . . . . . . . . .  . per . . . . . . . . . . . . . 
Chapter Seventeen : Machines

Question 1

1. Use Physics for You  to fill in the missing words:
a)  Efficiency   =      . . . . . . . . . . . . . . energy . . . . . . . . . . . . . . 

                                  . . . . . . . . . . . . . . energy . . . . . . . . . . . . . .

                         =    power . . . . . . . . .

                               . . . . . . . . . . input

b) The energy transferred is calculated by:


Work done   =   . . . . . . . . . . . . . . . .   x   . . . . . . . . . . . . . . . .  moved

c) 
Because of friction, some . . . . . . . . . . . . . . . . . . is always wasted. 
This means that the . . . . . . . . . . . . . . . . is always . . . . . . . . . . than 100%.

Chapter Nineteen : Momentum

Question 1

1. Use Physics for You  to fill in the missing words:

a) Momentum = . . . . . . . . . . . . . . x . . . . . . . . . . . . . . . . . .

b) It is a . . . . . . . . . . . . . . . . . .  quantity

c) Its unit is . . . . . . . . . . . . . . . . . . 

d) Newton’s Second Law can be written as   Force  =  mass  x  . . . . . . . . . . . . . . . or   Force = . . . . . . . .  . . of change of . . . . . . . . . . . . . . . . . . 

e) The Principle of Conservation of Momentum states:

f) . . . . . . . . . . . . . . . . . . is conserved in any collision but kinetic . . . . . . . . . . . . . 
is not.

Chapter Twenty : The Earth and beyond

Questions

1. Use Physics for You  to fill in the missing words:

a)
The Earth has . . . . . . . . . . . . . . . . layers:   . . . . . . . . . . . . . . .,     
. . . . . . . . . . . . . . .,     . . . . . . . . . . . . . . .

b) Seismic P-waves are . . . . . . . . . . . . . . . . . . waves and can go through 
. . . . . . . . . . . . . . . . . . and . . . . . . . . . . . . . . . . . .  
S-waves are . . . . . . . . . . . . . . . . . .  waves and can go through 
. . . . . . . . . . . . . . . . . . but not . . . . . . . . . . . . . . . . . . 

2.
a)
A day is the time for:



b)
A month is the time for:


c)
A year is the time for:


d)
The Earth’s axis is tilted at an angle of . . . . . . . . .  and this 



causes our . . . . . . . . . . . . . . . . .


e)
The names of the planets, in order, are:




f)
The shape of a planet’s orbit is an . . . . . . . . . . . . . . . . . . . .

Chapter Twenty (continued)
5.     Use Physics for You  to fill in the missing words:

a)
A satellite in a higher orbit takes . . . . . . . . . . . . . . . . . time to complete 



one orbit.

b)
A satellite or planet is held in . . . . . . . . . . . . . . by a . . . . . . . . . . . . . . . . .


force.

c)
The Solar System was formed by:


d)
Comets travel in very . . . . . . . . . . . . . . . . . . . . . . . . orbits.

e)
The Sun is an ordinary . . . . . . . . . . . . ,  part of our . . . . . . . . . . . . . . . . .


called the Milky Way.

f)
Solar energy comes from nuclear . . . . . . . . . . . . . . . . . . .

g)
Our Sun is a . . . . . . . . . . . . . . . . . dwarf star.
Later it will change to a red . . . . . . . . . . . . . . . . . ,  then to 
a . . . . . . . . . . . . . . . . .  dwarf,  then to a . . . . . . . . . . . . . . . . . . . dwarf.

h)
A larger star (a blue . . . . . . . . . . .)  will change to a red . . . . . . . . . . . . . . . . and later explode in a . . . . . . . . . . . . . . . . . . . . . . .  leaving 



a . . . . . . . . . . . . . . . . . star or a . . . . . . . . . . . . . . . . hole.

i)
The Universe been . . . . . . . . . . . . . . . . . . . since the time of 



the . . . . . . . . . . . . . . . . . . . 

j)
The light from distant galaxies shows a . . . . . . . –shift due to the 
. . . . . . . . . . . . . . . .  effect.
The farthest galaxies move . . . . . . . . . . . . . . . . .

Chapter Twenty One : Waves

Question 1

1. Use Physics for You  to fill in the missing words:

a) If the vibrations of a wave are at right angles to the direction of the wave, 
it is called a . . . . . . . . . . . . . . . . . . wave. 
If the vibrations of a wave are along the direction of the wave, it is called a 
. . . . . . . . . . . . . . . . . . wave.
A water wave is a . . . . . . . . . . . . . . . . . . wave and a sound wave is a 
. . . . . . . . . . . . . . . . .  wave.

b) The wavelength of a wave is the . . . . . . . . . . . . . . . . . . between two successive . . . . . . . . . . . . . . . . .     (or . . . . . . . . . . . . . . . . . ) 
The frequency of a vibration is measured in . . . . . . . . . . . . . . . . . . or 
. . . . . . . . . . . . . . . . .

Chapter Twenty – Two : Light

Question 1

1. Use Physics for You  to fill in the missing words:

a) Light travels in . . . . . . . . . . . . . . . . .  lines.

b) A shadow formed by a small source of light has . . . . . . . . . . . . . . . . . edges and is called an . . . . . . . . . . . . . . . . .


A large source of light causes a shadow with two parts called the 
. . . . . . . . . . . . . . . . .  and the. . . . . . . . . . . . . . . . .

c) In an eclipse of the Sun, the . . . . . . . . . . . . . . . . .  comes between the Sun and the . . . . . . . . . . . . . . . . .


In an eclipse of the Moon, the . . . . . . . . . . . . . . . . .  comes between the 
. . . . . . . . . . . . . . . . .  and the . . . . . . . . . . . . . . . . .

d) In a pinhole camera, the image is . . . . . . . . . . . . .  and . . . . . .. . . . . . . . .


If the pinhole is made larger, the image becomes . . . . . . . . . . . . . . . . .  
and . . . . . . . . . . . . . . . . .

Chapter Twenty – Three : Reflection

Question 1

1.
The angle between an incident ray and the mirror is 30°.

a) What is the angle of incidence?

b) What is the angle of reflection?

c) What is the total angle turned by the ray?

Chapter Twenty Four : Curved mirrors

Question 1

1.  Use Physics for You  to fill in the missing words:


a) A concave mirror . . . . . . . . . . . . . . . . . rays of light, whereas a convex mirror 
. . . . . . . . . . . . . . . . .  rays of light.

b) Parallel rays of light are reflected by concave mirror to a point called the 
. . . . . . . . . . . . . . . . . .     . . . . . . . . . . . . . . . . .
The focal length is the distance from the . . . . . . . . . . . . . . . . . .  . . . . . . . to the mirror.

c) For a convex mirror, parallel rays of light are reflected . . . . . . . . . .    . . . . . . . . .  a point called the . . . . . . . . . . . . . . . . . .     . . . . . . . . . . . . . . . . . . 

Chapter Twenty Five : Refraction

Question 1

1. Use Physics for You  to fill in the missing words:

a) A ray of light travelling from air into glass is . . . . . . . . . . . . . . . . . . or bent 
. . . . . . . . . . . . . . . . . . the normal. 
A ray of light travelling from water to air is . . . . . . . . . . . . . . . . . . or bent 
. . . . . . . . .      . . . . . . . . .  the normal.

b) The speed of light in water is . . . . . . . . . . . . . . . . than the speed of light in air.

c) A swimming pool looks . . . . . . . . . . . . . . . . . . . . .  than it really is, because light from the bottom is refracted . . . . . . . . . . .       . . . . . . . . . the normal on passing into air.

d) Total internal reflection takes place in a glass prism if the angle of incidence in the . . . . . . . . . . . . . . . . . . is . . . . . . . . . . . . . . . . . .  than the 
. . . . . . . . . . . . . . . . . . angle. 
The angles of a totally reflecting prism are . . . . . . degrees, . . . . . . degrees, 
. . . . . .  degrees.

Chapter Twenty Six : Lenses

Question 1

1.  Use Physics for You  to fill in the missing words:

a) A convex lens . . . . . . . . . . . . . . . . . . rays of light, whereas a 
concave lens . . . . . . . . . . . . . . . . . . rays of light.

b) Parallel rays of light are refracted by a convex lens to a point called 
the . . . . . . . . . . . . . . .      . . . . . . . . . . . . 

c) A fat convex lens is a . . . . . . . . . . . . . . . . . . lens, with a . . . . . . . . . . . . 
focal length.

d) The image in a convex lens depends upon the distance of the . . . . . . . . . . .
from the lens.

e) For a concave lens, parallel rays of light are refracted . . . . . . . .     
. . . . . . . . . . . a point called the . . . . . . . . . . . . .    . . . . . . . . . . . .
The image in a concave lens is always . . . . . . . . . . . . . . . . . .  than the object.

Chapter Twenty Eight : Colour, Electromagnetic spectrum

Question 1

1.  Use Physics for You  to fill in the missing words:

a) White light is composed of . . . . . . . . . . . . . . . . . . colours, in order: 
red, . . . . . . . . . . . . ,   . . . . . . . . . . . . ,   . . . . . . . . . . . . ,   . . . . . . . . . . . . ,   
. . . . . . . . . . . . ,   . . . . . . . . . . . . ,    which form the visible . . . . . . . . . . .
The colour with the longest wavelength is . . . . . . . . . . . . . . . . 
The colour deviated through the largest angle by a prism is . . . . . . . . . . .

b) The full electromagnetic spectrum, in order, is 
gamma-rays, . . . . . . . . . . . . ,   . . . . . . . . . . . . ,   . . . . . . . . . . . . ,   
. . . . . . . . . . . . ,   . . . . . . . . . . . . ,   
The section with the longest wavelength is . . . . . . . . . . . . . . . . . .

c) The most dangerous radiation is . . . . . . . . . . . . . . . . because it can
. . . . . . . . . . . . . . . . . . atoms in your body.

Chapter Twenty Nine : Sound

Question 1

1. Use Physics for You  to fill in the missing words:

a) Sound is caused by . . . . . . . . . . . . . . . . . . . . .

b) A sound wave consists of places at higher pressure (called . . . . . . . . . . . . . . .) 
and places of . . . . . . . . . . . . . .  pressure (called . . . . . . . . . . . . . . .. . . . . .. . .)

c) Wave speed (in metres per second) equals 
frequency (in . . . . . . . . . )   multiplied by . . . . . . . . . . . . . . . . . . (in  . . . . . . . . . .)

d) Sound cannot travel through a . . . . . . . . . . . . . . . . . . .

e) Echoes are caused by the . . . . . . . . . . . . . . . . . . . . . of sound. 

f) The speed of sound in a solid is . . . . . . . . . . . . . . . . . . than the speed of sound in air.

g) Ultrasounds have a . . . . . . . . . . . . . . . . . . above . . . . . . . . . .  Hz and so have a short . . . . . . . . . . . . . . . . . . .
They have many uses, including pre-natal . . . . . . . . . . . 

h) Pitch depends on . . . . . . . . . . . . . . . . . .  
Loudness depends on . . . . . . . . . . . . . . . . . . 
Quality depends on . . . . . . . . . . . . . . . . . . 

Chapter Thirty : Static electricity

Question 1
1. Use Physics for You  to fill in the missing words:

a) 
Like charges . . . . . . . . . . . . . . . . ,    unlike charges . . . . . . . . . . . . . . . . . 

b) When polythene is rubbed with wool, some . . . . . . . . . . . . . . . . . .  leave the  
. . . . . . . . . . . . . . . . . .  and move on to the . . . . . . . . . . . . . . . . .  so that the polythene becomes . . . . . . . . . . . . . . . . . . charged and the wool is left 
. . . . . . . . . . . . . . . . . .  charged.

c) When rubbed, cellulose acetate becomes . . . . . . . . . . . . . . . . . . charged because it . . . . . . . . . . . . . . . . . . some electrons.

d) A negatively-charged object attracts a piece of paper because it
. . . . . . . . . . . . . . . . . . some electrons away from the surface of the paper.
This leaves the surface of the paper . . . . . . . . . . . . . . . . . . . . . . charged 
so that it is . . . . . . . . . . . . . . . . . . . . . . . to the object.
These separated charges are called . . . . . . . . . . . . . . . . . . . charges.

e) In a gold-leaf electroscope, the leaf rises because like charges . . . . . . . . . 

f) Conductors (unlike . . . . . . . . . . . . ) allow . . . . . . . . . . . . . . . . . . to travel through them.

g) Sharp points . . . . . . . . . . their charge easily by  . . . . . . . . . . . . . . . . . . .
the air. 
The . . . . . . . . . . . . . . . . . . at the top of a lightning conductor loses 
. . . . . . . . . . . . . . . . . . to the clouds to neutralise them so that they are less likely to produce a flash of . . . . . . . . . . . . . . . . . . .

h) Charges are measured in . . . . . . . . . . . . . . . . . .  and can be stored in 
. . . . . . . . . . . . . . . . .

Chapter Thirty One : Circuits

Question 1

1.   Use Physics for You  to fill in the missing words:

a) A current is a flow of . . . . . . . . . . . . . . . . . . . 
For this to happen there must be a . . . . . . . . . . . . . . . . .  circuit.

b) Copper is a good . . . . . . . . . . . . . . . . . .  
Plastic is an . . . . . . . . . . . . . . . . . . 

c) Current is measured in . . . . . . . . . . . . . . . . . using an . . . . . . . . . . . . . . . . . placed in . . . . . . . . . . . . . . . . . in a circuit.

d) Potential difference (p.d.) is measured in . . . . . . . . . . . . . . . . . . using a 
. . . . . . . . . . . . . . . . . . placed in . . . . . . . . . . . . . . . . . . across a component.

e) Ohm’s Law: 
the . . . . . . . . . . . . . . . . . . flowing through a conductor is . . . . . . . . . . . . . . . . . to the . . . . . . . . . . . . . . . . . . difference across it, providing the 
. . . . . . . . . . . . . . . . . . is constant.

f) The formula connecting V (. . . . . . . . . . . . . . . .  difference),  I (. . . . . . . . . . . . .) and R (. . . . . . . . . . . . . . . . .) is :

g) Resistance is measured in . . . . . . . . . . . . . . . . . .  
The resistance of a wire increases as the length . . . . . . . . . . . . . . . . .; 
as the temperature . . . . . . . . . . . . . . . . .  ; and as the cross-sectional area 
. . . . . . . . . . . . . . . . .

Chapter Thirty Two : Heating effect of a current

Question 1

1. Use Physics for You  to fill in the missing words:

a) The power (in watts) in an electric circuit is equal to the current 
(in . . . . . . . . . . . . . . . . .)   multiplied by the . . . . . . . . . . . . . . . . . . . . . . 
(in . . . . . . . . . . . . . . . . .)

b) To calculate the energy (in joules), the power( in . . . . . . . . . . . . . . . . . ) is multiplied by the . . . . . . . . . . . . . . . . .  (in . . . . . . . . . . . . . . . . . )

c) To calculate the energy (in kilowatt-hours), the . . . . . . . . . . . . . . . . .  
(in . . . . . . . . . . . . . . . . . . .  ) is multiplied by the . . . . . . . . . . (in . . . . . . . . . . .)

d) A fuse( or a . . . . . . . . . . . . . . . . . . . . . . . . . . or a light switch) should always be placed in the . . . . . . . . . . . . . . . . .  wire of a mains circuit.

e) When wiring a fused plug, the brown wire should go to the . . . . . . . . . . . . . . . 
terminal,  the blue wire to the . . . . . . . . . . . . . . . . . . terminal and 
the green and yellow wire to the . . . . . . . . . . . . . . . . . . terminal.

f) The earth wire should be connected to the . . . . . . . . . . . . . . . . . . of an appliance.

Chapter Thirty Three : Chemical effect of a current

Question 1

1. Use Physics for You  to fill in the missing words:

a) A liquid which conducts electricity is called an . . . . . . . . . . . . . . . . . . 

b) The positive electrode of a voltameter is called the  . . . . . . . . . . . . . . . . . . 
and the negative electrode is called the . . . . . . . . . . . . . . . . .  

c) In the electrolysis of water, hydrogen forms at the . . . . . . . . . . . . . . . . ., 
and . . . . . . . . . . . . . . . . . . forms at the . . . . . . . . . . . . . . . . .

d) In the electrolysis of copper sulphate, . . . . . . . . . . . . . . . . .  is deposited on 
the . . . . . . . . . . . . . . . . .

e) A metal or hydrogen is always deposited at the . . . . . . . . . . . . . . . . . . 

f) Michael Faraday discovered that the . . . . . . . . . . . . . . . . . . of metal deposited is proportional to the . . . . . . . . . . . . . . . . . . and proportional to the . . . . . . . . . .

g) The current in the electrolyte is carried by charged atoms called . . . . . . . . . . . . 
The positive . . . . . . . . . . . . . . . . . move towards the . . . . . . . . . . . . . . . . . . 
In copper sulphate solution, the atoms of copper have lost . . . . . . . . . . . . . . . . 
and so have a . . . . . . . . . . . . . . . . . . charge which causes them to move towards the . . . . . . . . . . . . . . . . . . 

Chapter Thirty Four : Magnetism

Question 1

1. Use Physics for You  to fill in the missing words:

a) Like poles . . . . . . . . . . . . . . . . .;   unlike poles . . . . . . . . . . . . . . . . .

b) A magnet can be made by . . . . . . . . . . . . . . . . . . it or by using a current in an 
. . . . . . . . . . . . . . . . . . . . .

c) Strong magnets can be demagnetised by: 

i. a coil carrying . . . . . . . . . . . . . . . . .  current 

ii. . . . . . . . . . . . . . . . . . . or 

iii. . . . . . . . . . . . . . . . . .

d) The Earth’s magnetic field is rather like that of a . . . . . . . . . . . . . . . magnet with its . . . . . . . . . . . . . . . . .-pole in the northern hemisphere.

e) Iron is easily . . . . . . . . . . . . . . . . . . . . . . and easily . . . . . . . . . . . . . . . . . . . . . 
Steel is used to make . . . . . . . . . . . . . . . . . .  magnets.

f) If the N-pole of a magnet is brought near an unmagnetised nail, then magnetism is . . . . . . . . . . . . . . . . . into the nail.  
The nail is then . . . . . . . . . . . . . . . . . to the magnet.

Chapter Thirty Five : Magnetic effect of a current

Question 1

1.
Use Physics for You  to fill in the missing words:

a) The lines of . . . . . . . . . . . . . . . . . . round a straight current-carrying conductor are in the shape of . . . . . . . . . . . . . . . . . . .

b) The Right-hand Grip Rule: 
if you grip the . . . . . . . . . . . . . . . . . . with your right. . . . . . . . . . . . . . . . . . pointing with the . . . . . . . . . . . . . . . . . .,   your fingers curl with the 
. . . . . . . . . . . . . . . . .  field lines.     

c) For a solenoid, the magnetic field is like that of a . . . . . . . . . . . . . . . . . . 

d) If a coil is viewed from one end and the current flows in an anti-clockwise direction, then this end is a . . . . . . . . . . . . . . . . . . -pole.

e) The magnetic effect of a coil can be increased by 
increasing the number of . . . . . . . . . . . . . . . . . . . 
increasing the . . . . . . . . . . . . . . . . . . or 
inserting a . . . . . . . . . . . . . . . . . . core.

Chapter Thirty Six : Electromagnetic induction

Question 1

1.
Use Physics for You  to fill in the missing words:

a) When there is a relative movement between a wire and a 
magnetic . . . . . . . . . . . . . . . . . . then . . . . . . . . . . . . . . . . . . may be
. . . . . . . . . . . . . . . . . . in the wire.

b) Fleming’s Rule for the dynamo effect uses the . . . . . . . . . . . . . . . . . . hand.

c) Lenz’s Law: the . . . . . . . . . . . . . . . . . . of the  . . . . . . . . . . . . . . . . .  current is such that it . . . . . . . . . . . . . . . . .  the change producing it.

d) The strength of the induced current depends on the . . . . . . . . . . . . . . . . . 
of the movement, the . . . . . . . . . . . . . . . . .  of the magnet and the number of 
. . . . . . . . . . . . . . . . .  on the coil.

e) An a.c. generator is fitted with . . . . . . . . . . . . . . . . .  whereas 
a d.c. generator is fitted with a . . . . . . . . . . . . . . . . .

2.
a)
A transformer will work only with . . . . . . . . . . . . . . . . . . . . . .  current.


b)
The formula for a transformer is:




c)
When the voltage is stepped-down, the current is stepped-. . . . . . . in the 



. . . . . . . . . . . . ratio (if the transformer is . . . . . . . % efficient).


d)
The core of a transformer is . . . . . . . . . . . . . . . . . . . . . to reduce


. . . . . . . . . . . . . .  currents.


e)
In the national Grid system, the elcricity is distributed round the country at



. . . . . . . . . . . . .  voltage and . . . . . . . . . . . . . . . . . current.


f)
In the Grid,  . . . . . . . . . . . . . . . . . . . current is used because transformers 
will not work with . . . . . . . . . . . . . . . current.

Chapter Thirty Seven : Electron beams

Question 1

1. Use Physics for You  to fill in the missing words:

a) When a wire is heated in a vacuum, it emits . . . . . . . . . . . . . . . . . . 
This process is called . . . . . . . . . . . . . . . . .  emission.

b) A current flows in a diode valve only when 

i. the cathode is . . . . . . . . . . . . . . . . .  and 

ii. the anode is . . . . . . . . . . . . . . . . . .  to attract the  . . . . . . . . . . . . . . . . .  electrons.

c) A beam of electrons (‘. . . . . . . . . . . . . . . . .  rays’) can be deflected by 

i. a . . . . . . . . . . . . . . . . .  or 

ii.  . . . . . . . . . . . . . . . . . . 


The . . . . . . . . . . . . . . . . .  electrons are deflected away from a 
. . . . . . . . . . . . . . . . .  –charged plate.

d) In a cathode-ray oscilloscope (CRO) the vertical deflection of the spot is proportional to the . . . . . . . . . . . . . . . . . . applied across the Y-plates. 
When studying waveforms, the spot is moved horizontally by a 
. . . . . . . . . . . . . . . . . circuit.

e) When fast electrons are stopped, . . . . . . . . . . . . . . . . .  of 
very . . . . . . . . . . . . . . . . . wavelength may be produced.

Chapter Thirty Eight : Electronics

Question 1

1. Use Physics for You  to fill in the missing words:

a) Germanium and silicon are called . . . . . . . . . . . . . . . . .  
A diode will pass a current only when it is . . . . . . . . . . . . . . . . - biassed.

b) A diode is useful as a half-wave . . . . . . . . . . . . . . . . . . to convert 
. . . . . . . . . . . . . . . . . . current to . . . . . . . . . . . . . . . . . current. 
The output can be smoothed by a . . . . . . . . . . . . . . . . . . .

c) A LED (. . . . . . . . . . . . . . . . . . . . . . . . . . . . . ) is a transducer; it changes 
. . . . . . . . . . . . . . . . . . energy to . . . . . . . . . . . . . . . . . . energy.

d) When an LDR (. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .) is illuminated, 
its resistance . . . . . . . . . . . . . . . . . .  
When a thermistor is heated, its resistance . . . . . . . . . . . . . . . . .

e) A . . . . . . . . . . . . . . . . . . . . . . . (NO) reed switch does not pass a current until a 
. . . . . . . . . . . . . . . . . . is brought near it.

f) A . . . . . . . . . . . . . . . . . . current in the coil of a relay can switch on or off a 
. . . . . . . . . . . . . . . . .  current through the contacts.

g) A transistor is used to . . . . . . . . . . . . . . . . . . small currents. 
A small current in the . . . . . . . . . . . . . . . . . . circuit causes a 
. . . . . . . . . . . . . . . . . . current to flow in the . . . . . . . . . . . . . . . . . . circuit.

Chapter Thirty Nine : Radioactivity

Question 1

1. Use Physics for You  to fill in the missing words:

a) An alpha . . . . . . . . . . . . . . . . . . is . . . . . . . . . . . . . . . . . -charged and has the same charge and mass as the nucleus of a . . . . . . . . . . . . . . . . . . atom.

b) Beta . . . . . . . . . . . . . . . . . . are . . . . . . . . . . . . . . . . . -charged electrons travelling at very . . . . . . . . . . . . . . . speed.

c) Gamma rays are . . . . . . . . . . . . . . . . . . . . . . . . . . . . rays of very short 
. . . . . . . . . . . . . . . . . . . 

d) Beta . . . . . . . . . . . . . . . . . . are more penetrating than . . . . . . . . . . . . . . . . . . 
but less penetrating than . . . . . . . . . . . . . . . . .

e) . . . . . . . . . . . . . . . . .   and . . . . . . . . . . . . . . . . . . can be deflected by electric and magnetic fields, but . . . . . . . . . . . . . . . . .  cannot.

f) Alpha-, beta- and gamma-rays can be detected by 
. . . . . . . . . . . . . . . . .  film,  a . . . . . . . . . . . . . . . . .  chamber, or 
a . . . . . . . . . . . . . . . . . tube. 
A gold-leaf electroscope or a spark counter can be used to detect 
. . . . . . . . . . . . . . . . .

2.

a)
An atom has a small heavy . . . . . . . . . . . . . . . . containing . . . . . . . . . . . . . . 
(. . . . . . . . . . . . . .  -charged) and . . . . . . . . . . . . . (. . . . . . . . . . . . . .-charged).

b)
A . . . . . . . . . . . . . . and a . . . . . . . . . . . . . . are each about 1800 times the mass of an electron.

c) The atomic number is the number of . . . . . . . . . . . . . .

d) The mass number is the number of . . . . . . . . . . . . . .

e) An isotope has the same number of . . . . . . . . . . . . . . but a different number of
. . . . . . . . . . . . . .

f) The half-life of an element is the . . . . . . . . . . . . . . taken for . . . . . . . . . . . . . . of the atoms to decay.
After . . . . . . . . . . . . . . half-lives, only one-eighth of the element remains.
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